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SSC Multitasking Staff Exam 

Date:16.02.2014 

PART – I 
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“TERRORISM” 

 MIRROR ERROR  

MORE ROAR

5 7 2 725,6 9 0

906,8 4 3 ?
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  
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5 10 ?
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Solutions 

1.  Ans. (1) 

 
2

2

09 :81:: 04 :

9 81

4 16





 

2. Ans. (3) 

  

3. Ans. (3) 

 
Mango fruit

Jasmin flower




  

4. Ans. (3) 

 ABC : RQP :: CBA : 

 
ABC CBA ABC is written in reverse

So, RQP has to be written PQRRQP PQR

 


 

 

5. Ans. (3) 

  

  

  

   

6. Ans. (3) 

 As December, January, March all have 31 

days. February has 28 or 29 days, so 

February is different from three 

alternatives. 

7. Ans. (2) 

 18 – 26 difference   26 – 18 = 8 

 37 – 30 difference   37 – 30 = 7  

 54 – 62 difference   62 – 54 = 8 

 77 – 85 difference   85 – 77 = 8 

 Option (1), (3) and (4) has difference of 8 

and option (2) has different of 7. 

8. Ans. (3) 

 Let’s arrange them in ascending order 

 Chilka < Brahmputra < Bay of Bengal < 

Atlantic Ocean 

  (C)      (A)  (D) 

 (B) 

9. Ans. (3) 

  

10. Ans. (1) 

  

11. Ans. (3) 

  

 Here, we can see that there is nor relation 

between eraser and pencils but all pens 

are pencils. 

 So, there is also no relation between pens 

and eraser. 

12. Ans. (1) 

  

 Tina’s final direction is also East. 

Teacher : Student : : Lawyer : Client

    Relation              Relation 

A     D     G     J
1 4 7 10

+3 +3 +3

M    P      S     V
13 16 19 22

+3 +3 +3

E    H      J      N
5 8 10 14

+3 +2 +4

L     O     R      U
12 15 18 21

+3 +3 +3

BC GH LM QRBC 

+5 +5 +5

12 1772

+1 +1 +1 +1

4       8       16       32      64     128

×2 ×2 ×2 ×2 ×2

Pencils

Pens Eraser

North

South

West East
45 km

45 km

33 km

65 km



13. Ans. (2) 

 21 × 7 × 6 × 9 

 21 ÷ 7 + 6 = 9 

14. Ans. (4) 

 T E R R O R I S M 

 Option (4) ROAR has letter ‘A’ and ‘A’ is 

not available in TERRORISM. So, option 

(4) ROAR 

15. Ans. (3) 

  

 Similarly,   

  

16. Ans. (2) 

   
17. Question is wrong. 

18. Ans. (3) 

 

2 5

2 5

2 5

7 14 19

6 12 17

5 10 ? 15

 

 

 

 

 

  

 

 

19. Ans. (3) 

  

 You can see that ‘D E L I B E R A T I O N’ 

is written reversely. 

 So, I N F I R M I T Y can be written Y T I M 

R I F N I  in the same reverse manner.  

20. Ans. (4) 

21. Ans. (4) 

  

22. Ans. (3) 

 
P I N K

69 11 99 41
  

23. Ans. (3) 

  

24. Ans. (2) 

25. Ans. (4)  

  

26. Ans. (4) 

 Let the original price is x Rs. And discount 

given = 20% 

 Then, discounted price 
(100 20)

=
100

x


  

5  +  7  +  2  = 7 2 5

6  +  9  +  0  = 9 0 6

8  +  4  +  3  = 4 3 8

D  E   L   I  B  E  R  A  T  I  O  N

N  O   I   T  A  R  E  B  I  L  E  D

Parents

Mother  Father



 
80

800
100

K x  

 
800 100

80
x


  

 x = 1000    

27. Ans. (1) 

 CP of scooter = 20,000 

 SP of scooter = 22,000 

 Profit = SP – CP = 2000 

 Profit % 100
profit

CP
   

 
2000

100
20,000

    = 10% 

28. Ans. (3) 

 Let Raghu travelled at x km/hr 

 Time taken to cover 84 km 
84

x
  

 If he has travelled 5 hour less then, he 

would have taken 5 hour more than 

earlier. 

 So, 
84 84

5
5x x
 


 

 If you solve these equation, you will get 

quadratic. 

 So, solve it by options method or by 

complete divisible method. 

 Check option : 

 (1) 5 km/hour time 84/5, 10 km/hr, time 

8.4 hr. 

 (2) 6 km/hour time 84/6 = 14 hrs; 11 

km/hr, time 14 hr. 

 (3) 7 km/hour time 84/7 = 12 hrs; 12 

km/hr, time 84/12 hr. 

 Only in option (3), time difference is 5 

hours. 

 So answer is (3) 

29. Ans. (4) 

 Given, cost price of refrigerator  

 = Rs. 28,000 

 Selling price 
(100 loss%)

cost price
100


   

 Selling price 

(100 discount%)
market price

100


   

 

(100 discount%)
market price

100

(100 loss%)
cost price

100





 

 

 
market price (100 loss%)

cost price (100 discount)





 

 Market Price 
(100 10)

28,000
(100 20)


 


 

 

9 0


8 0
20000

9
3500

8



 

 

 Market Price = 31500 

 So, option (4) is answer 

 Short Trick : 
100 loss %

100

MP

CP discount

 
  

 
 

30. Ans. (1) 

 Number will be LCM of (2, 5, 9 and 11)+ 2 

 LCM of 2, 5, 9 and 11 is 990 

 So, number = 990 + 1 = 991 

31. Ans. (2) 

 Let fourth proportional is x 

  

 12 × x = 16 × 18 

 
16 18

24
12

x


   

12  :  16  : :  18  :  x



32. Ans. (4) 

 Avg. of 11 results = 60 marks 

 Sum of 11 results = 660 marks 

 Avg. of first six result = 59 

 Sum of first six result = 59 × 6 …….. (i) 

 Avg. of last six results = 62 marks 

 Sum of last six result = 62 × 6 ……. (ii) 

 Let middle number is x. 

 If we add eqn (i) and eqn. (ii) 

 We will add sixth result ‘x’ two times 

 So, 59 × 6 + 62 × 6 = (sum of 11 results) 

+ sixth result 

 59 × 6 + 62 × 6 = 660 + x 

 (59 + 62) × 6 = 660 + x 

 121 × 6 = 660 + x 

 726 = 660 + x 

 x = 726 – 660 = 66 

33. Ans. (4) 

 Total apples bought = 100 

 Rotten apples = 4 

 Rest apples = 96 or 8 dozens  

 Selling price of per dozen apples = 50 Rs. 

 Total selling price = 50 × 8 = 400 Rs. 

 Cost price of apples = 300 Rs.  

 Profit = SP – CP 

 = 400 – 300 

 = 100 Rs. 

34. Ans. (3) 

 Efficiency ( ) 

    

20
2 10

10
20( 10 20)

20
1 20

20

A days

LCM of and

B days

  



  

  

 So, total work is 20 units and efficiency of 

A is 2 and efficiency of B is 1. 

 They work together for 5 days, so total 

work done in 5 days = 5 × ( A +  B) 

 = 5 × (2 + 1)  

 = 5 × 3  = 15 units 

 Now, 5 units of work is remaining 

 B will take 
Remaining work 5

5
1B

days


    

 Hence, option (3) is answer. 

 Short trick : 
2 10

20
1 20

A

B





.   

 

5( ) 20

5(2 1) 1 20

20 15 5

A B xB

x

x days

 

   

  

 

35. Ans. (1)  

 Net rate for component interest @ 4% per 

annum for 2 years = 8.16% 

 So, 8.16 = 102 

 Net rate for simple interest @ 4% per 

annum for 2 year = 8% 

 8.16 102  

 So, 
102

8 8
8.16

   

 8 = 100 

 Hence, simple interest for 2 years is Rs. 

100 

36. Ans. (3) 

 50 CP = 40 SP 

 
4 5

5 4

CP SP

SP CP
    

 Profit = SP – CP = 5 – 4 = 1 

 Profit % = 
Profit

100
CP

  

 
1

100 25%
4

    

 



37. Ans. (4) 

CP = 0.8 

 SP = 1.25 

 Profit %  

 

1.25 0.8
100

0.8

.45
100

.80

45

8 0


 

 

 10 0

56.25%

  

38. Ans. (4) 

Let total surface area of earth is 150 

 Then land : water = 1:2 

 i.e., land = 
1

150 50
3
   

 water 
2

150 100
3

    

 Northern and southern hemisphere parts 

will be equal. 

 So, surface area of northern hemisphere = 

75 

 surface area of southern hemisphere = 75 

 Now given ratio of land : water in northern 

is 2 : 3 

 
2

75 30
5

land     

 
3

75 45
5

water     

 Remaining land on southern hemisphere = 

50 – 30 = 20 

 Remaining water on southern hemisphere 

= 100 – 45 = 55 

 Ratio of land and water on southern 

hemisphere = 20 : 55 = 4 : 11 

39. Ans. (2) 

 In simple interest: 

 If rate has been increased by 3% for 4 

years 

 Then, we can say that  

 

4 3% 1440

12% 1440

100% 12000 .Rs

 





 

40. Ans. (4) 

 Let the total number of workers are x. 

 So, 6000 × x = 14000 × 12 + 5600 (x + 

12)  

 60x  = 140 × 12 + 56 (x - 12)   

 4x  = 140 × 12 - 56 × 12 

 4x  = 84 × 12  

 x = 252  

 By allegation 

 Let no. of remaining persons are x. 

 So, total number of workers = x + 12 

 

  

 So,  

 
8000

12

x


20

400

240x 

 

 Total number of persons  

 = 240 + 12 = 252 

41. Ans. (3) 

 Volume of right prism  

 = Area of base × height 

Remaining workers
5600

Officers
14000

8000
(14000 – 6000)

400
(6000 – 5600)

6000

x : 12



 

23
9

4

3

4

h
 

   
 

 27 24
 

  
 

6

49 6 3

29 4 3

294 1.732

509

 

 

 

 

 (don’t do exact calculation) 

42. Ans. (3) 

 No. of days 

 8 12 4

2 : 3 : 1

A B A B C 

 

 So, efficiency, 

 

3 1 : 2 1 : 2 3

3 : 2 : 6

  

 

 xA+B+C = 6 

 xC =  xA+B+C - xA+B = 6 – (3 + 2) = 1 

 Share of 720C

A B C

x
C

x  

   

 Share of 

1
720

6

120 .

C

Rs

 



 

43. Ans. (2) 

 129 216 68 169    

 129 216 68 13    

 129 216 9   

 129 15  

 144  

 = 12  

44. Ans. (2) 

 

100

10 10
10 10

100

21%

ab
a b 


   

45. Ans. (1) 

 SP of an article  

 
90

26,500 

9

100
10

95


19

100
20

 = 2275.90 

46. Ans. (4) 

 You can use, this formula is applicable for 

the substance which is not changed in the 

mixture 

 Old solution × old % = new solution × 

new % 

 In this case, spirit has not been changed. 

 20 × 90% = 25 × x 

 
20

x 

4

90

25



5

72%  

47. Ans. (2) 

 6.5 cm = .65 m 

 Volume of low land = volume of ditch 

 48 × 31.5 × .65  =  27 × 18.2 × depth 

 
48 315 65

27 182
100

depth
 

    

 = depth = 2m 

48. Ans. (2) 

 

51 51
3

35 5

55

hrs

xhrs x



 


 

 
51 5

5 3
x    

 x = 17 km 



49. Ans. (3) 

 difference between lite rate male and lite 

rate female 

 
(35% 33%)

2,50,000
100


   

 
2

100
 2,50, 000 5,000  

50. Ans. (3)  

 By road, 

 For India = 30% × 1086 

 
3

1086 325
10

    

 For China 
1

3140 628
5

    

 For Korea 
3

1855 556
10

   

 For Japan 
3

2360 708
10

    

 For Iran 
1

1465 732.5
2

    

 Hence, Iran has maximum quantity in 

goods by road.   

51. Ans. (2) 

 Error is in part (2) (was)  had. 

52. Ans. (1) 

 The last two. 

53. Ans. (1) 

 I had seen. 

54. Ans. (4)  

55. Ans. (2) 

  I 

56. Ans. (2) 

 ‘was’ in place of were. 

57. Ans. (3) 

 Won’t you? 

58. Ans. (2) 

 Overwhelmed with joy. 

59. Ans. (3) 

60. Ans. (3) 

 inferior to 

61. Ans. (3)  

62. Ans. (4) 

63. Ans. (1) 

 Trust in 

64. Ans. (2) 

65. Ans. (1) 

66. Ans. (4) 

67. Ans. (2) 

68. Ans. (2) 

 Present perfect + Simple past 

69. Ans. (4) 

 of 

70. Ans. (3) 

71. Ans. (3) 

 Wander means to roam  

72. Ans. (4) 

 Taciturn means – uncommunicative or 

silent  

73. Ans. (4) 

 Fury means anger  

74. Ans. (3)  

75. Ans. (1) 

 Stingy means ungenerous or misery  

76. Ans. (3) 

 Rapid means fast its antonym is slow. 

77. Ans. (2) 

78. Ans. (3) 

79. Ans. (4) 

80. Ans. (1) 

81. Ans. (2) 

82. Ans. (3) 



83. Ans. (4) 

84. Ans. (3) 

85. Ans. (2) 

86. Ans. (1) 

87. Ans. (1) 

88. Ans. (2) 

89. Ans. (3) 

90. Ans. (2) 

91. Ans. (2) 

92. Ans. (2) 

93. Ans. (1) 

94. Ans. (4) 

95. Ans. (3) 

96. Ans. (4) 

97. Ans. (2) 

98. Ans. (2) 

99. Ans. (3) 

100. Ans. (3) 

101. Ans. (1) 

 The science of weather is called 

meteorology. 

102. Ans. (1) 

103. Ans. (2) 

104. Ans. (4) 

105. Ans. (4) 

 PC means personal computer. 

106. Ans. (3) 

107. Ans. (4) 

108. Ans. (3) 

109. Ans. (3) 

110. Ans. (2) 

111. Ans. (1) 

112. Ans. (2) 

 Dandi March. 

113. Ans. (3) 

114. Ans. (2) 

 Colombia hosted the NAM summit in 1995. 

115. Ans. (1) 

116. Ans. (4) 

117. Ans. (2) 

118. Ans. (2) 

119. Ans. (2) 

120. Ans. (4) 

121. Ans. (1) 

122. Ans. (3) 

123. Ans. (2) 

124. Ans. (3) 

125. Ans. (1) 

126. Ans. (3) 

127. Ans. (3) 

128. Ans. (1) 

129. Ans. (1) 

130. Ans. (3) 

131. Ans. (4) 

132. Ans. (4) 

133. Ans. (3) 

134. Ans. (2) 

135. Ans. (1) 

136. Ans. (4) 

137. Ans. (3) 

138. Ans. (2) 

139. Ans. (4) 

140. Ans. (4) 

141. Ans. (2) 

142. Ans. (2) 

143. Ans. (4) 

144. Ans. (3) 

145. Ans. (3) 

146. Ans. (3) 

147. Ans. (1) 

148. Ans. (4) 

149. Ans. (4) 

150. Ans. (4)
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